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CBA Practice paper model answers 

Basic Costing (BCCG)
Practice assessment 1
Section 1
Task 1.1

[image: image2.png]Indicate two characteristics for each system by putting a tick in the relevant column of the table below.

[tis based on past events

lts purpose s to provide information for managers

Itis based on future events

[ttcomplies with company law and accounting ules





Task 1.2

[image: image3.png]Classify the following costs it incurred by element (material, labour or overhead) by putting a tick in the
relevant column of the table below.

[Wood used in garden chairs

|Rent of factory

[Wages of carpenters in the cuting
|department

[Expenses ofthe office manager






Task 1.3
[image: image4.png]Classify the following costs incurred by nature (direct or indirect) by putting a tick in the relevant column
of the table below.

|Conditioner used on hair

IInsurance of salon

[Wages of salon cleaner

[Wages of hair stylsts





Task 1.4

[image: image5.png]Classify the following costs incurred by function (production, administration, selling and distribution or
finance) by putting a tick in the relevant column of the table below.

|Repairs to elivery vans

[Plastic usedto make the toys

[Rent of the office building

|Bank interest






Task 1.5
[image: image6.png]Classify the following costs incurred by their behaviour (fixed, variable or semi-variable) by putting a tick
in the relevant column of the table below.

[Material used in the production
lprocess

|Advertising budget for the year

[Etectriciy costs which include a
|standing charge

[Labour costs paid on a piecework
lbasis






Task 1.6
[image: image7.png]‘You are required to classify the revenue and expense transactions shown in the transaction column of the
table below using the code column for your answer. The first two transactions have been coded for you.

pronw
saes oo |ksaes 00 saestocucpe [toazoo
oseassars oo E— —
roucten b orectcon oo S —
frorectcest oo arsnouseren[uaazao
[Administration 300 [Direct Cost 100 |Sales to Oxford UK |100/100
frorectcest oo A -
seingand oo orectcan oo s s o000
fnovecicost oo om0





Task 1.7

[image: image8.png]You are required to classify the transactions listed in the transaction column of the table below using the
‘code column for your answer. The first coding has been done for you.

Iwaterial IDirect Cost 100 IDepreciation of equipment| G200
lndirect Cost l2oo Safan cfaine oo

|Labour |irect Cost 1100 g::::’ﬂ ‘salon l6200
[indirect Cost 200 uﬁseezn:’r;% r::rlle;als lx200

[overheads [Direct Cost 1100 (L;g:oc:sis to renew lease] lc200
lingirect Cost l2oo f:"::';:g“ ':’?e"als used[, o





Task 1.8
[image: image9.png]Identify the type of cost behaviour (fixed, variable or semi-variable) described by each statement below by
putting a tick in the relevant column of the table below.

Statement

Variable

[Costs for 1000 units are £2000, made up of a fired
lelement of £500 and a variable element of £1500

[Costs are £5 per unit at 500 units and £2 per unit at
11250 units

[Costs for 750 units are £1500 and costs for 1250 units|
Jare £2500





Task 1.9
[image: image10.png]Classify the following costs as either fixed or variable by putting a tick in the relevant column of the table
below.

|Direct materials

[Wages of production workers paid using a time-rate
Imethoa

[Wages of production workers paid by a piecework
Imethoa

[Rentfor a factory usedfor production





Task 1.10

[image: image11.png]Complete the table below, showing fixed costs, variable costs, total costs and unit cost for the different
levels of production. You are told that fixed costs are £ 12,000 and that variable costs are £3 per unit.

2000 12000 6000 18000 °

3,000 12000 9000 21000 7

4,000 12000 12000 24000 5






Task 1.11
[image: image12.png]Complete the following total cost and unit cost table for a production level of 20,000 units.

[Material 40000 2
|Labour 60000 3
|overheads 80000 4

[Total 180000 °





Task 1.12
[image: image13.png]Complete the table below to show the unit cost at a production level of 24,000 units.

IMaterials 5
|Labour 4
|overheads 2

[Total 1





Section 2
Task 2.1

[image: image14.png]Opening inventory of raw materials £7,000

Purchases of raw materials 250,000
Closing inventory of raw materials 10,000
DIRECT HATERIALS USED 247,000
Directlabour 297,000
PRINE COST £124,000
Wanufacturing overheads 253,000
WANUFACTURING GOST £197.000
Opening iventory afwork n progress 26,000
Glosing inventory of work n progress 10,000
COST OF GOODS HANUFAGTURED £195,000
Opening invertory o fnished gosds 30,000
Glosing inventoryoffinished goods 225000

COST OF GOODS SOLD £200,000





Task 2.2

[image: image15.png]You are told the opening inventory of a single raw material in the stores is 600 units at £5 per unit. During
the month a receipt of 400 units at £6 per unitis received and the following week 200 units are issued.
Identify the valuation method described in the statements below.

[The issue of 200 units is costed at
l£1.200

[The closing inventory is valued at
le4.320

[The issue of 200 units is costed at
le1.000





Task 2.3

[image: image16.png]Identify whether the following Statements are true or false by putting a tick in the relevant column of the
table below.

Tru

[FIFO costs issues of inventory atthe most recent
lpurchase prices

[AvCO costs issues of inventory at the oldest
lpurchase prices

|LIFO costs issues of inventory atthe oldest
lpurchase prices

[SIISfIS]

[FIFO values closing inventory atthe most recent
lpurchase prices

[LIFO values closing inventory atthe most recent
lpurchase prices

[AvCO values closing inventory attne latest
jpurchase prices

SIS





Task 2.4

[image: image17.png](Complete the table below for the issue and closing inventory values.

IFFo 2300 4400

|uFo 2000 3800

laveo 2580 4120





Task 2.5

[image: image18.png]Identify whether the following statements are true or false by putting a tick in the relevant column of the
table below.

Tru

[Direct labour costs can be identified with the goods
[being made or the senice being provided

[Indirect costs vary directy with the level of activty





Task 2.6
[image: image19.png]Identify the labour payment method by putting a tick in the relevant column of the table below..

[Labour is paid based on the
lproduction achieved

[Labour is paid extra f an agreed
llevel of output s exceeded

|Labour is paid according to hours
[worked





Task 2.7
[image: image20.png]Identify the labour payment method described in the following statements by putting a tick in the relevant
column of the table below.

An employee s paid £432 for the
36 hours that she has worked

An employee s paid £400 for the
300 units that she has produced

An employee s paid £420 for the
35 hours that she worked and an
extra £45 for eficient production





Task 2.8

[image: image21.png]Calculate the basic wage, overtime and gross wage for the week for the two workers in the table below.
Note: f no overtime is paid you should enter 0 as the overtime for that worker.

|A singh 35 hours 350 0 350)

|5 Callaghan |40 hours 350 75 25|





Task 2.9

[image: image22.png]Calculate the gross wage for the two workers in the table below.

G Patel 1300 units 240

A Jones 1400 units 320





Task 2.10

[image: image23.png]Calculate the basic wage, bonus and gross wage for the week for the three workers in the table below.
Note: if no bonus is paid you should enter 0 as the bonus for that worker in the table.

|a smitn s [150 420 0 420)

b oHara s 175 420 0 420)

I stizgt s l10 420 £ 55|





Task 2.11

[image: image24.png]Identify whether the following Statements are true or false by putting a tick in the relevant column of the
table below.

[Avariance is the difierence between budgeted and
lactual cost

|2 favourable variance means budgeted costs are
|oreater than actual costs





Task 2.12
[image: image25.png]Calculate the amount of the variance for each cost type and then determine whether it is adverse or
favourable by putting a tick in the relevant column of the table below.

pirect matrials sa| a0 1700
pirctiabour 7200 73000 1200
Posucionoverneas | esooo] 72100 atoo
[romimstston s2000  se000 2000
[Setingsnaasttouton) 43000 aroo0| 1100





Task 2.13

[image: image26.png]Examine the adverse (A) and favourable (F) variances in the table below and calculate the actual cost,
indicating whether each variance is significant or not significant by putting a tick in the relevant column of
the table below.

Iiectmateriis IR
[Direct labour 64,500 5250 (A)| 69750
[Producion vereas | 33000 26008 35400
[raminitaton 24300 19006) 20000
[Seing anadstiouion]  p7.400] 22508 2se50






Task 2.14
[image: image27.png]Identify, for the following significant cost variances, one relevant manager to whom the performance
report should be sent.

|Direct materials [Purchasing Manager v

[Production overheads [Production Manager v







OR

[image: image28.png]IDirect materials.

Production Manager

IProduction overheads

Production Manager
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